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Determine the value of b for Th@ﬂ:ﬂ f the line passes through the

following points. Then write the £quation in slope-intercept form.
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Determine the value of m for the equation y = mx + 2 if the Ilne passes through the
following paints. Then write the equation in slope-intercept form. Y1~ Q\Cl &
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What you just did above is one way that you will be able to find the equation of a line. IF you have
the 5\Q§X ____orthe \! ‘1'(]"‘(' , You can input the (O0rd | I"ff-fkgof a point on the

line to solve for the unknown part of the equation.

Then you will write the full equation with 5‘0?6 and \!‘ \ ﬁ'\' " inplace of mand b.

The following is another method. (Sﬁﬁ e \L'\" ?C{%e,w
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The Equation of a Line
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The three forms

Slope-Intercept Form

y=mx+b

m is the slope

b is the y-intercept

—ﬁgntélqpe Form

S e

' Derived from m = 2=

| Xp—x1

! Cross multiply to get point-
: slope form.

! Need one point and slope
A T S ., W o

Write in geheral form.

X% 1] /

. General Form
TR TR R

| A must be positive,
i AB,C are integers.
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144. Challenge #6

Write the equation of the line that passes through A(2,5) and has slope 3. Express your answer in

general from and
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in slope intercept form. '
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_The Equation of a Line

IMPORTANTII There is only one line that passes through a given point with a given slope.

2

=6, LA TLL Y. ¢
Vel _—
\(\{‘Q\ ; ‘{:’% Given the slope and a point:

X
0"@1 ._
TP f Use the slope far‘mufa

m= % Cross-Multiply. This creates the Paint-Slope form of an equation.

Eg.1. A line passes through A(2,5) and has slope 3. Write the equation of the line.

m(x; —xy) =y; —y; Fillin what you know. m = 3. Substitute the given point in for x; and y;.

3(x—2)=(y—15) This is our equation in point-slope form.
We no longer need the subscripts on x and y

3x—6=y—5 Expanded.

3x—-y—-1=0 Collecting the terms to the left side is called writing the equation in
general form.

Or

y=3x-1 Isolate for 'y' to get the equation in slope-intercept form.
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Write the equation of the line that passes through the given point and has the given slope.
Express the equation in a) point-slope form b) general form c) slope-intercept form.
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Write the equation of the line that passes through the given point and has the given slope.
Express the equation in a) point-slope form b) slope-intercept form c) general form.
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157. Challenge #7:

6\0@675

Updated June 2016

Write the equation of a line in general form given that the line passes through (3,4) and (4,6).
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Given two points:

When given two points we must first find the slope of the line. Then we will follow the same
process as above.

Write the equation of the line that passes through (3,4) and (4,6).

N X\(\ %’/3( m =221 Find the slope.

X27X1

%)

LV, - g
{\O%J mi=tii=2=p The slope is 2.
‘({\Q '\IJ\\% >

2I= Z—:‘* Substitute slope and ONE of the points.
(/ 2c=3)=y—4 Cross-multiply. Point-slope form

2x—6=y—4 Expand and simplify.

2x—y-2= Werite in general form.

y=2x-2 And in slope-intercept form if necessary.

Write the equation of the line that passes through the following two points in general form,

158.(3,4) and (4,6) Explain your reasoning
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159. (-2, -4) and (0, 6)
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Write the equation of the line that passes through the following two peints in general form.
t61. (-1, -2) and (3,0) 162. (0,4) and (5, 0)

160. (-5, -8) and (-7, -9)
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c\oss example.
¥ 165 (0.3,0.4) and (0.5,0.7)

163. (8, -7) and (-6, -7) * t64. (2,1) and (2,2) ‘
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Working With Linear Equations:

* Beable to convert equations between general form and slope-intercept form.

* Be able to graph equations given to you in either form.
* Beable to make comparisons based on parallel and perpendicular lines.

Eg.1. Graph the line 3x + 2y — 6 = 0. |
% KW (onsu W\‘\,f\‘b \/ ‘\)LDQ}U\ ') DU\/ MKe, %\C@

2)make a table of values 3)convert to slope-intercept form

1) use intercepts

I chose option 1 because this equation allows for easy calculations to

lk\ E find both intercepts.
NI B
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1 300)+2y—-6=0 2y —-6=0 2y =6 y=3
) H The y-intercept is 3
.]_”’. ..1|)\J|antul i
fo 3
Tk \ 3x+2(0)—6=0 3x—6=0 3x =6 X =2
a " The x-intercept is 2.
0 bt
. .
y %1 Plot the two points & draw the line through them,

My second choice would have been option 3, conversion to slope-intercept form.
3x+2y—-6=0 2y==-3x+6 y=?x+3

Plot the y-intercept then use the slope to plot another point, draw a line through the two points.

Graph the lines represented by each of the following equations. Use any method.
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